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- 22HK &IZ &b 500,000& x 5IHA x 62 = 15,000,000
= JI= JIAHI 10,000,000& x 13 = 10,000,000
o EHE M
- N 22X ME 2,000& x 50002 = 10,000,000
- 22 V€8 & 3,000& x 2,000 = 6,000,000
- 22 Y HI& 100,000& x 109 = 1,000,000




(JOC 0I5 LRt2IAIY SE3IH HIZSUAA) (Bt &

1t =
Ol &bt IIY0jlakH sz AEU S
ey £y =
03 |Ab & HI| 31| BF AF & HII3I3|E AF AF & HI 11,000 0 11,000 |O HAFAIHH] [= 11,000]
o EA & EII 1,500,000& x 28] = 3,000,000
o FIHAH AlH] 10,0008 x 2509 x 23] = 5,000,000
° |83 MAH 10,0008 x 3002 = 3,000,000
08 |0HIBl & DJIEH 81 |0iIHIBl % JIEF 15,928 0 15,928 |[= 15,928]
811 |0l a] s 15,828 0 15,828 |O 0liH18l = 15,828,000
812 |t 2 = 100 0 100 |O etet= = 100,000




